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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

O 37 R 1 T w S wEg ¥ wEled 4 2

DO

A B C D
Select the figure which does NOT belong to the group.

LIPS

A B C D
Ans x1_D

X2 A

X 3B

vicC

Question ID :9864493901
Status : Answered
Chosen Option : 4

@z DWT : GZW :: QPM :
DWT : GZW :: QPM :
Ans o 1. TSP
<2 TPS
< 3 STP
X 4 PST

Question ID : 9864493904
Status : Answered
Chosen Option :1

Q.3 Rl W F A= A1 & o Mg 7 o ey afrar $ aifg ae e
ghfi

‘Which of the following processes will take place the slowest for the same quantity of
liquid?

Ans aTEEhaﬂ.UT
v )
Evaporation

fgA

Freezing

<2

Question ID : 9864493568
Status : Answered
Chosen Option : 2




3
‘Boiling
x ,, T
Condensation
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Q.4

Ans

oo st 7 ¥ e sremea MY W o 2
Which of the following animals has a comparatively longer intestine?

Shedl
X2
Dog

Cli3)
2
Tiger
3 TR
Rabbit
e

Fox

< 4

Question ID : 9864493336
Status : Answered
Chosen Option : 3

Q.5

T W AEYEE A w0 AR o & e A & s wie w a
wgAe fafea & /2

T
TTATET WY o SO #r off B a7 gEan @ A7 RE & fw s sk
TAGT & 919 USH AIFA HT TS FA IE B

AT

1.mﬁmmwﬁﬂHMWﬁmmwm
#r s

2. WIfSIeheuT 3Taegs ANFEAT A § ARTRE I qLATT T W@l gl

Consider the argument and decide which of the given assumptions is/are implicit.
Argument:
The highway authority had announced that it will be undertaking a major road repair work

for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.

2. The authority is troubling citizens with unnecessary repair work.

F—f?—l’f13ﬁ'\"i-rt'ﬁ'2ﬁ'%?r%

Nelther 1 nor 2 is implicit
Faa HJAA 2 fafea @
2.
Only assumption 2 is implicit
had AqAT 1 AT
Vs ° §

Only assumption 1 is implicit

13#1123;1#%1%?%

Both 1 and 2 are implicit

Question ID : 9864493750
Status : Answered
Chosen Option : 3

Q.6

T FIBEAT TAT] A, T golagiel 5.0 x 107 m Frsam Hr e ¥ 2.2 x 106 nys ifer
T §| FAGEd faggd o i (Rege er= 1.6 % 107 ¢)

Tn a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10~**m with a speed of
2.2 % 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 107*° C)

Question ID : 9864493086
Status : Not Answered
Chosen Option : --




v 1 1.12mA
< 2 0.112 mA
< 3112 mA
X 4112 mA
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o7 el T F Y A T R #

&%
e
L 4

Fill in the missing space with the correct figure.

@&
®

S/wy

Ans X1C
X2B
v:sD
x4 A

Question ID : 9864493704
Status : Answered
Chosen Option : 2

Q.8 et T F 3@ 3 &= &1 e 7 ;8 § Wl s v W &
AT 6:7 F - HaoT H I AR T g = o

The ratio of sand to gravel in a mixture is 7 : 8 while that between gravel and cement is 6 :

7. What is the ratio of sand to cement in the mixture?

Ans X 1.8 : 6
X 249 : 48
K37:7
vi3:4

Question ID : 9864492685
Status : Not Answered
Chosen Option : --

A9 Fg FaeT SAHFEET FF Y A7 T AT FGT T

Solid carbon dioxide is known as:

Ans
«1;‘33fra'ﬁ?
dry ice
, e Tt

wet ice

<

Question ID : 9864493347
Status : Answered
Chosen Option : 1
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| wah

gas ice
X 4 3T TH

solid ice

x

Q.10 el R F FW U, UF T H 3oaded  HIOT 30° | JaT 45 HeT F=n

or 3 $ oo T & g A 2 407 3 e o % B e Question ID : 9864492958
foraer or? Status : Not Answered

From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m Chosen Option : -

high and the horizontal distance between the platform and the tower was 40+/3 m. What
was the height of the platform?

Ans 1 4543 Hrex
453 m
x , 40 R

40 m

(3-5m
Sm

\ 2043 #Hrex
203 m

x

Q.11 2016 & wefile g5, TR # & = & Tz AewEr few ¥ w100
FT T FAE F IS H I AT F7?

Released in 2016, which of the following is the first Malayalam movie to cross the 100-
crore revenue mark? Chosen Option : --

Question ID : 9864492163
Status : Not Answered

Ans OH

Koo

Drishyam
X2 A

Premam

3 W
Pulimurugan

X 4 3T TSFhad Tothr
Oru Vadakkan Selfie

1291111 Fraer %: Question ID : 9864492620

Status : Answered

The square of 11111 is:
Ans  of' 1123454321

Chosen Option : 1

< 2321231
< 31223311
< 41234321

Q.13 f=faf@a § ¥ #ia W o F2d0T F 3= RN F ¥ SH-regfaaam &

SPTE oar 87
‘Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic
Table? Chosen Option : 2

Question ID : 9864493593
Status : Answered

Ans Eﬁéﬁm
b !

Titaninm

AferoT

Gallium

2
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Q.14 37 v% TTg THEAT Fecld 3T Ie0 S ¢ A rtatEe & ¥ s ar
SRt g 22

‘Which of the following changes when a body performs uniform circular motion?

Ans « . ﬁﬂn'

Direction

X3 Hef?l
Momentum
X 4
Mass

Question ID : 9864493520
Status : Answered
Chosen Option : 3

Q.15 5o Amemmor affes @anoT & &t T F1 weel 22 asf 7 €300 g ol
afea a=iRr @ §2

At 8% simple interest per annum a sum of money becomes T 300 in 2% years. What was
the sum mvested?

Ans X 1.3 275
X 2.7 240
V'3 T250
X 4. %260

Question ID : 9864492787
Status : Answered
Chosen Option : 3

Q.16 frorT 1 THAA A 3W F TIA 37 F 15 T F 3 a9 FA gl 12 a9 v
YT #r 37 I 3 IH F AT T 3 3 Sy ol D Hr TOA 3H T4 87

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in
years?

Ans « 1. 42
< 2 33
< 339
< 430

Question ID : 9864492832
Status : Not Answered
Chosen Option : --

Q.17 zfy e fems ¥ <ien Reaw o 7 & 9EEg & = & & 55 T pa
TR T g Fr WeTaa B
If a solution turns blue litmus red, its pH s likely to be:

Ans X 1.9
V26
X338
X4 7

Question ID : 9864493229
Status : Answered
Chosen Option : 2

Q.18

Question ID : 9864494042
Status : Answered
Chosen Option : 4
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fRaT w9 ¥ #i9 ¥ ey G o @ 21

U
T o Aol ¥ % o Aoer @19 @t §

s

1. P15 &fr @17 oF T T
2. FE & o \@T T R

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

Ans - Faer sy 2 TTEIOT FAT g
1.

Only conclusion 2 follows.

xz_;rﬁﬂsﬂt;r?rzaﬁmmm%l

Neither 1 nor 2 follows.

¥ sy 1 3T T g

| Only conclusion 1 follows.

|1 3R 2 3 e X &
Both 1 and 2 follow.

x

v

Q.19 FAT F v ¥Hs Evs FARE A 97 Rfr FF 16% om HivE fem oy
3T BT 71,500 #F @mier o & 3O 3 e F =
Qamar gained 16% on the resale of a used stereo. If he purchased the item for ¥ 1,500,

Question ID
Status

19864492808
: Answered

how much did he sell it for? Chosen Option : 3
Ans X 1. T 1,660
X 2T 1,600
V331,740
X 4 1,820
Q20 R o wfe g ezt & R R Hﬂﬂmﬁ W I T Question ID : 9864494189
g gear - 3T Status : Answered
Select the missing term based on the given related pair of words. Chosen Option : 3

: Hand :: Sole : Foot

Ans x1 m

| Finger




www.govtjobsalert.in

O AT T & O *i |1 T T FE

Which of the following is a Pythagorean triplet?
Ans x 1.2.3.5
X 279,11
X 5.17,21,29
W 48,1517

Question ID : 9864492540
Status : Answered
Chosen Option : 4

Q22 sffergiaer $r 3mqf T @ W ot 3eaeeT B ¢

Alan flame is produced when the oxygen supply is sufficient.

Ans x1gﬂ.

green

Question ID : 9864493632
Status : Answered
Chosen Option : 4

Q.23 7rfy a7 g7 2 2 & Forer efreraT & sy e & 3 v e 3 16 TEge dm e,
Hrsed g R dirdt s e amF E it ee e F 4 segr e w5
THRF T

If a young son works quickly for 2 hours and prepares 16 items in a day, and his old father
works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans - 9 T FAT HAF g
1.
The son has more energy.
v EEEIRUESEIBERS
2

The son has more power.

s arat $r ofrg v TAT g
Both have equal power.

, el 1 B O FHA 2
Both have equal energy.

x

Question ID : 9864493101
Status : Answered
Chosen Option :1

Q24 ABC$+#DEF&=?GHII2+@
e A & AR W HeT Jed 9 1 9394 B

ADG : +=2 = CEl :
ABC$+#DEF&="GHII2*@
From the above sequence find the missing term.
ADG :+=2 : CEIL:
Ans x 1. E@?
X 2. D@7

Question ID : 9864493873
Status : Not Answered
Chosen Option : --




X 3 E?@
v o D?@
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Q.25 20ke X & U TG H 2m I FAE T ST A §| 3F TG W

TECATRNUT & GAT T T/ HE RRaar g ?

(AT o g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g = 10 m/s?)

50 el
X1 ®

5071

100 =TT
X2 ~
100 J

400 =TeT
( 3. -
400 J

40 37T
xe °
407

Question ID : 9864493443
Status : Answered
Chosen Option : 3

Q.26 faw 71w wod W TR #{ A a7 # F =i = & 7 F5m ==

9% FT 3ea{ & & [T g &
14$20+8#4 T AT &7 &2

F:

1. § & GETF -, » & A9Y +, # F a9y +
2. 14%20+8 = 25

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the value of 14$20*8#4?

Statements:

1. % implies -, * implies +, # implies +
2. 14820*8 =25

XLEF;EI?-IW ik 2 @ T #

Both statements 1 and 2 are sufficient

W2
AT e 1 AT ¢ et shaol FUdT 2 JAd el ¢

Statement 1 alone is sufficient while statement 2 alone is insufficient

x3.aﬁm1m%ﬂm2é’r

Neither statement 1 or 2 is sufficient

< 4
AT FYUA 2 AT § FafF Faer FUT 1 g9 747 &

Statement 2 alone is sufficient while statement 1 alone is insufficient

Question ID : 9864493905
Status : Not Answered
Chosen Option : --

Q.27 F ART & TAT F TN F A7 G o =T FJ0ar 2

is known as India's Spice Garden.

Question ID : 9864492114
Status : Answered
Chosen Option :2
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Q.28 g 9RO FFATT (S §1 #H Tloiar &) A 2017 H fhcAha aEweEA

Ans

TeiEAT QTR ATed §3T?

‘Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

x ;, ST FoaT
Amitabh Bachchan
2 faae @=r
Vinod Khanna
e =T
3.
Shatrughan Sinha
X4 ﬂﬁa‘-

Dharmendra

v

Question ID : 9864492294
Status : Answered
Chosen Option : 2

Q.29m£f&ﬁ¢nﬁgwﬁgﬁsa‘a&,a§tﬁg§ﬁﬁanﬁ45°g’sr—fr%,3ﬂrf€m

Ans

wET #1 ge H Rwda few F 135° it i g v & gz # e #F 180°
T &1 3nf T, Rew Raw #r o dme g wd g B

Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?

Question ID : 9864494312
Status : Answered
Chosen Option : 4

Q.30

Question ID : 9864494226
Status : Not Answered
Chosen Option : --




Distribution of various Minerals in Human Body
Sodium
B%

0%
Calcium
5%
Iron

18% Magnesium

aCaicim W MagnResum s Iron  ® POTESIUM  ® Sodium

Distribution of various minerals in the human body- AT e # fafee=
foeew & faeor

Calcium- Fie=rra
Magnesium- Janfams
Iron- @Er

Potassium- SieRms
Sodium- FifETR

e I e AT oY H @iA=t @ A e R g

T 1T st F e W/, AT w7 F gE Ty aE gfoud ik gEy
T FA ST AT g # ST #7482

Distribution of various Minerals in Human Body

Sodium
L

9%
Potasiur

"

18% Magnesium

Calcium = Magnesum = lron  ® Potssium = Sodium

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?
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Ans X 1.3 : 1
X241
w221
Ka1:2
Q.31 v oiF & AUR F ST6el 64 T FHET § Falh $HH DT F15 17

Ans

e 71 30 OF F I Teny g7 & F e O # R R g
=T e & = e gem

The area of the base of a cone is 641 cm? while its slant height is 17 em. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

x , 8.5 T

6.5 cm
72 2V30 #dereT
Iﬁmcm
| 2V40 T
240 cm
. 830 #dHeY
Eﬁfﬁcm

x

Question ID : 9864492874
Status : Not Answered
Chosen Option : --

Q.32

Question ID : 9864493385




Ans

T ¥ ?

mﬁﬁaﬁﬂmwmmm\éﬁg%vﬂtmﬂ

alert.in

Chosen Option : 1

Status : Answered

Which of the following devices converts Chemical energy into Electrical energy?

v &) 3 wel
Electric cell
x o TG BT

Electric heater
3 ?WT

Hair dryer
xa faega mar

Electric fan

x

Q.33

Ans

B 3= T ¥ 30 FeX 57 T $ARE F 3R # aEaas wor 30° 3
r FaE fraeT 82

The angle of depression of the foot of a building from the top of a tower 30 m away is 30°
How high is the tower?

Question ID : 9864492657
Status : Answered
Chosen Option : 1

1043 #HreT
&)
1043 m
) 203 #Hrex
203 m
20 #HreT
20m

30 AT
30m

x

X 3

< 4

Q.34

Ans

T S, HET A, T AR R sy S s aa R e
ST 3w gE & e ded §2

These regional teams: Dabang Mumbai. Kalinga Lancers. Ranchi Rays and Delhi

Question ID : 9864492349
Status : Answered

‘Waveriders play against each other in which sports league competition?

Chosen Option : 2

Ot Sassr ST
Pro Kabaddi League
o, T ST ST
Hockey India League
" =3 AT o
Indian Premier League
o, TECS ATEHCAT TR
United Basketball Alliance

F !

Q.35

Question ID : 9864493982
Status : Not Answered
Chosen Option : --
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3, 12, __, 21612

Select the number missing from the given series.

3,12, 21612

ans 21,149
22150
v 2147
X 4 200

Q.36 ) .. .
er T 1T Skl # © e 2leg T =TT &l Question ID : 9864493640

Status : Answered
Chosen Option :2

PUNE : SXQF :: CITY :

Select the related letters from the given alternatives:

PUNE : SXQF :: CITY :
Ans  of 1. FLWZ
< 2 GMVZ
X 3 FLXZ
X 4 EKVZ

O3 Her Hr EH'TI";“C T %’: Question ID : 9864493339

Status : Answered

The unit of momentum is: .
Chosen Option : 3

Ans x 1. Kg ms

v 2 Kgms™!
< 3. Kgms™?
< 4. Kgms?

Q.38 FAfaem=ir (mitosis) & =oT F1 AH @, TrwS dvw Fenfee 9 F qoegE O (D ey els
Bl e aﬁ_ g_,, uestion 5

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the SIS S L AT O
equatorial plate? Chosen Option : --

Ans AaThaT

o
Metaphase

Tt

| Anaphase
Eollthet

| Telophase
SIthet

| Prophase

K2

X3

p

Q.39 Ugoll Tt q@ﬁ-ﬁ? &t & 3aa F=r g? Question ID : 9864492517

. Status : Answered
What 1s the mean of first hundred natural numbers? o
Chosen Option : 3




Ans 1. 5()
< 2515
v'350.5
x 451

www.govtjobsalert.in

Q.40 e ZamT 12 wliamsdt F W e 3% 24 §) FEA 7 7 aF 23 swa
¥ g BT ¥ A SE e 9 oftent & #) ofy wekw wfem A 30 A &
R AT A wda e T, R A e EA
forae 37 AW 9T FOA B, AN FE THT & G F gEEel F o

Question ID : 9864492938
Status : Not Answered
Chosen Option : --

Hiwr a1 w2
The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an

average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?
Ans  of 1. 21
X222
X319

<420

Q41 aryfers mEd FRON A FiT W & WGl A 8T ANG @ 2
In the modern periodic table, which of the two periods contain 8 elements each?

Question ID : 9864493314
Status : Answered
Chosen Option : 4

Ans x113ﬂ?2
1and?2
xz.“’ﬁ”
4and 5
«3_2311?3
2and3
x4_33ﬂ'{4

3and 4

Q.42 sfde wdaror 2017-18 & FIAR, HNA F Fhel i) 3eg (GDP) & Far &7
F wfava dree Aefafee & ¥ 5y @ F 39T aere

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

Question ID : 9864492328
Status : Not Answered
Chosen Option : --

Ans v 50% ¥ s
Greater than 50%

, 30% & FH
Less than 30%

N 40-50% & &r=r
Between 40-50%

N 30-40% o &=
Between 30-40%

x

x

x

Q43 frg gafte afed F o armrqeas s A T6s fodl 87
Which celebrity is the author of the book *An Unsuitable Boy’?

Question ID : 9864492341
Status : Not Answered
Chosen Option : --

Ans
orTereT egr
X2
Shatrughan Sinha

v &) E el
Karan Johar




| BT WA
' Shah Rukh Khan
erEg @
P S ’I:QB'
Khuswant Singh

x
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Q.44 X & X & 1247 I =r 39w Fa # o B opA w16 o & X F oA
o Fm §F g

X’s rank was 12 from the top. If the total number of students in the class was 16, then X’s
rank from the bottom of the class is:

Ans x14
X286
X3 7
V5

Question ID : 9864493839
Status : Answered
Chosen Option : 4

Q.45 2018 &, Rreafigze™ snae FRART (FSTE) & arcaet Fi9 g2
As 0f 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans ASTAT g9deeT

Question ID : 9864492265
Status : Answered
Chosen Option : 2

Q.46 e 7t @ i a1 9o 3w At aot &1 adr g ¥ st &ar
&

e, o, sieex

Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

Question ID : 9864493685
Status : Answered
Chosen Option : 1

Ans

v

X4. .
Q.47

Question ID : 9864493928




as

35 35

s
15 B B B
10 + = = =

5 - B B

jan feb mar apr may jun

jan- = feb- FIaY mar- AR

apr- der may- FE Jun- F7

o amn o X g F T 2017 F 6 Af F amh Toleor AT For et
Fr (g9 ) Fe Bl

A e H, Tgen W AEF () H AN g@d HEw o Aged (Frem)
Z2TaT §1

T 7T 3 F AWUR W, AT 2017 H aEF F O Tsigd TEe B
HET =T 3?

43

35 35

25
25 -
KN E
20 H B ]
1 1!

T
15 = = B
10 H =

5 - B B

jan feb mar apr may jun

The given graph shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and the second number
represents total vehicles (black).

Based on the given data, in March 2017, the number of vehicles other than bikes
registered is:

Ans 2 1.15000
v 2.10000
# 311000
~ 49000

www.govtjobsalert.in

Status : Not Answered
Chosen Option : --

Q.48 Prafaf@a # & &I & #ifte R &7 1 2T Fgaer ¢ ?
Which of the following physical quantity measures the rate of work done?

Ko el
Force

&2 S

Power

Ans

Question ID : 9864493301
Status : Answered
Chosen Option : 4

Q.49

Question ID : 9864493937
Status : Answered
Chosen Option :1




s s 1 4w e AN GQVHORSAlETL N

s ST

b
P4

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

>

Answer Figures
A B C D
Ans ‘, D

X2 A
X3 B

X 4C
Q.50 Hya W euATae HEn w1 v Av w5t & sud a9 R sl '@ oA )
. = Question ID : 9864493830
fafea ¥ &
Status : Answered
U Chosen Option : 4

FFE I A F FET, "I A T H T AT e g1

31@111:[:

1. 3at FREe e gfEA 74

2. 3Fa dNEE F HETET A T AES

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans Faer AT 1 g #
v 2
Only assumption 1 is implicit
Faer g 2 fafga &
2.

Only assumption 2 is implicit

|1 3R 2 2 fafea &

Both 1 and 2 are implicit

4_Err-|’r13ﬂ1;r€r2ﬁr%?r%

Neither 1 nor 2 is implicit

x

x

O greotere fohaehT Tiehar 87 Question ID : 9864493578

. . Status : Not Answered
Implantation is the process of: _
Chosen Option : --

Ane x 8707 3R ST ot 3 faeT

developing an embryo and its nourishment
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HATAT &F 28T & 3787 Uah a=< &1 9 1H
the development of a child inside the mother’s body

K3
AT &F &g ¥ ol eT & ATeds T 9iwor

nutrition from mother’s blood through placenta
v e AT & TS (AT & FTHAST T 3T
4.
attachment of zygote to the lining of a uterus

e 36’ 543‘ﬁT 108 =T H. & i I el EI IT: Question ID : 9864492742
The HCF of 36, 54 and 108 is: Sta?us : Answered
Chosen Option :1
Ans ( 1.18
X26
<39
<412

Q3 R A A A AT R A AT AT F R v e I Y

e w7 ¥ FiF ¥ T T 51w § Question ID : 9864494043

Status : Answered
Chosen Option : 1

FYA:
sitat 3 TE AT FE AT dEET o F AT owd & aW @

e

1. BT FEEL & aitar 7 wfeEd TR @ afew)
2. oAt R et & mew e danst & iy @ =ifgw

Consider the given statement to be true and decide which of the given conclusions can
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:
1. Government officers should have compulsory

rural posting.
2. Increase more transport facilities between cities and villages.

Ane x113ﬁ¢2a#’r3@waﬂﬁ%‘|
Both 1 and 2 follow.

Fael frshy 1 FFHEIT HLT g
2
Only conclusion 1 follows.

3_;ra’r13ﬂt;r€rza@wwm%|

x

v

Neither 1 nor 2 follows.

, et TR 2 JFgERoT e B

Only conclusion 2 follows.

<

Q.54
Question ID : 9864492609

Status : Not Answered
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ToeRT i Fe §,  F FoT T 780 TS F § | 5 U H A 1 AT fhee
8-

Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of ¥ 780. Find Arjuns’s share in this amount in T2

Ans < 1. 560
X< 2490
X 3350
v 4 420

@ fGT T HA F Jod U @l & g

Y-25, W-23, U-21, S-19.?

Select the term missing from the given series.

Y-25, W-23, U-21. §-19,?
Ans x 1. §-8
V2 Q17
# 3. P-16
X 4 Q-10

Question ID : 9864494322
Status : Answered
Chosen Option : 2

Q.56 A, B3 c Ree 0 &0 #7710 AT F wared &1 & §1 Ak B Rees
T FT # 12 RE F gamg =7 §, F8F B ¢ o oy e @ F
20 Rt F o T §1 fE B Rer 3@ FRT B AT A 3 F B O F
# e e weere?

A, B and C can complete a task together in 10 days. A and B would need 12 days if only

the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

Ans ( 1. 30
X222
X 320
X 4. 45

Question ID : 9864492829
Status : Not Answered
Chosen Option : --

Q.57 & =1z sl #r v Tl I ofE e @ o Afesia @ dn

~
\

L s

Select the correct mirror image of the given figure if the mirror is placed horizontally as
shown.

o
\

Ve

Ans

Question ID : 9864494363
Status : Not Answered
Chosen Option : --
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4% Foger F gEem T giar gl
A computer always has a:

Mo

1.
Keyboard
X2
Mouse

Tihey F15
Graphics card

X3

Question ID : 9864493850
Status : Answered
Chosen Option : 4

Q.59

Question ID : 9864492260
Status : Answered




Ans
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TromEr i 22 3eT Eemdr & 9§ 2016 # O 3ywtey gifler $r o

‘Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.

gifer Tz

Hardik Pandya

) HEUT AR
Karun Nair

| SO e
Jayant Yadav

v T T
K.L. Rahul

F !

x

x

Q.60 ues Wi TEAT H AT 4,5,6 AT 7 ¥ fasqied fovar snam § o vdw gur H

Ans

AT 3 g=ar gl O GEY ST gEar F4T g

A natural number, when divided by 4, 5, 6 or 7, leaves a remainder of 3 in each case.
‘What is the smallest of all such numbers?

< 1843
X 2213
< 3. 63

v 4 423

Question ID : 9864492802
Status : Not Answered
Chosen Option : --

Q.61

Ans

T = e 3F & Teoo Fr u=wi®r F=r @ FOr SrEeT 39 8% uiy a¥ @
[T =0T W 2T 81 afE ot & 5 st o &% & a=ufd & wr ar s
=S F FF F fraer Ty g g@efe?

Rahi deposited ¥600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :

21 F480
v 2 2240
< 32280
& 4. 3200

Question ID : 9864492667
Status : Not Answered
Chosen Option : --

Q.62 o R AT Y FuTTST wEw gger # of s = Sowwy A

Ans

arl
The founded the first city of Delhi and named it Indraprastha.

T
X2
Mughals
2

Pandavas

goeTToratT
X3 2
Portuguese
Higar

Kauravas

X 4

Question ID : 9864492095
Status : Answered
Chosen Option :2

Q.63 Fum, I iy Frm F v FF AW F SeTl F9A F TH FEA - #T a, Bww

Ans

& O $EE - AT o AT AW W F 9w am W F aw F w7 e s
oqr?

Tapan, Ravi and Trisha shared a cake. Tapan had ; of it, Trisha had > of it and Ravi had
the rest. What was Ravi’s share of the cake?

1
(1.5

Question ID : 9864492942
Status : Not Answered
Chosen Option : --
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Q.64 ugg A 3T C ol @l & 7 Fwaen 32 A 48 u F W wha §, &t

Ans

ST B Y g€ F H 24 €T F Wiew F Tl §1 g A s Fr sy
et faar ST | & # 2/3 s F fFas O eRREr

Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the

cistern is empty, how many hours will it take for the cistern to be > full?
/< 1.96
v 2 64
X 5. 48
K472

Question ID : 9864492851
Status : Not Answered
Chosen Option : --

O T v A wEE 39gFd feed ST |

Ans

18 Jree = x3 3EH |

Fill in the blank with the most appropriate option.

18 volts =

6 3@
X1

€ joules

Zsmzﬂm
€& amperes
?(3-6 dre

6 watts

6 FeiraT
< 4

€& milliamperes

x 3 ohms.

v

Question ID : 9864493464
Status : Answered
Chosen Option : 2

Q.66 717 & T &1 337 TH & 37 H I ¢ 8 A F TA F r F 37 I/

Ans

& 37 F 2.5 T il Tw Fr TTH= 37 F=4w A2

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

x1_2531‘r

25 years

V> 24 I§

24 years

23 3§
< 3.
23 years

x4_2231‘r

22 years

Question ID : 9864492692
Status : Not Answered
Chosen Option : --

Q.67

Ans

CO, & e Hr Afcerd AT hdar g &
The percentage of carbon in CO; is:

X112

Question ID : 9864493450
Status : Answered
Chosen Option : 4




X214
X344
V273
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Q.68 A o foF oot Al & & Ud® # T FE 0F A Ughed gurr §, 39
BEeT 1 79 F o 79 C & RGu 71w wea Rear (7) # a6 & €

A B C
Assuming that the numbers in each of the following figures follow a similar pattern. select
the option that can replace the question mark (?) in figure C.

ans X 135
X247

X545
v 37

Question ID : 9864494184
Status : Answered
Chosen Option : 4

Q8 & % Iy T T FH qe AT TE WAET T

Problem Figure

A
: O
Answer Figures

O Ol IN V| |V
>A >v O] |O
A B C D

Choose the correct water image of the given figure.

Problem Figure

DS

Answer Figures

ol [V
>%>V\o

A
Ans X1 A
< 2D
X3C
v B

_[o]<

Question ID : 9864493811
Status : Answered
Chosen Option : 4
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Question ID : 9864493661
Status : Not Answered
Chosen Option : --

How many triangles are present in the following figure?

Ans x 116
K212
<314
415

Q.71 3cax A=t (Answer Figures) & & weeT fIger & T 9X 31T areir Ter
HIHTT A

Problem Figure

Answer Figures

Choose the correct figure from the answer figures that replaces the question mark.

Problem Figure

Answer Figures
g

Ans X 1.3
V22
X 51
X4

Question ID : 9864493740
Status : Answered
Chosen Option :2

Q.72 Ferie FEaEd FEATed T 7oy F FROT AewTs e F B G e
& F 7 & H vF TIIAE FEAT T3 A?

Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

Ans

x1.w

Royapuram
HerdE
Saidapet
3. AT eneeH
Thousand Lights

HR. &, A
v
RK Nagar

X2

x

Question ID : 9864492337
Status : Not Answered
Chosen Option : --
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Non-metal oxides are usually:
Ans 3m
v
acidic
X 2 e
neutral
K 3. T
basic
< 4
amphoteric

Status : Answered
Chosen Option : 3

Q74 st & for WA T TS T T T 3
The square root of which of the following numbers is irrational?
Ans 2 1. 3969
v 2. 8560
X 3. 5625
< 41764

Question ID : 9864492763
Status : Not Answered
Chosen Option : --

7S FTEE AT FLAT &
Hydra reproduces by:
Ans u
1 e fawEe gam
Binary fission
HepeleT G

Fragmentation
IEICEC IR
X 4 EE-
Multiple fission

Question ID : 9864493237
Status : Answered
Chosen Option : 1




